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1. Shall have read

2. will have received

3. is

4. shall have finished

5. I like

6. have

7. will have finished

8. will have lived

9. will have completed

10. will see

Vocabulary previous

questions
1. condemn

2. win

3. clump

4. tadpole

5. praise

6. weak point

7. to waste

8. herd

9. benevolent

10. Courage induced by alcohol

11. active

12. lass

13. anaesthesia

14. garland

15. somniloquist

16. plutocracy
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1. 24

    
icm-icn =

  XpI
                      FÆw

23 + 25 + 20 + 22 + k + 24  = 23
                 6
                          114 + k     = 23 ´6

   114 + k     = 136
k    = 138- ˛ 114
     = 24

2. 2525252525
XpI = 38 ´ 20 = 760

                       35 ´ 21 = 735
        ]pXp-Xmbn h∂
              BfpsS hb v = 760-˛735

 = 25

3.1515151515
           BZy 3 kwJ-y-I-fpsS XpI = 16 ´ 3 = 48
Ah-km-\sØ 3 kwJ-y-I-fpsS XpI = 17 ´ 3 = 51
\mem-asØ kwJy 18 Bb-Xn-\m¬
              (2,3 kwJ-y-I-fpsS XpI) = 51- ˛ 18 = 33

    BZ-y kwJy = 48 -˛ 33 = 15

4.88888
  5 kwJy-I-fpsS XpI = 5 ´20

= 100
       4 kwJ-y-I-fpsS XpI = 4 ´ 23 = 92
         Hgn-hm-°nb kwJy = 100- ˛ 92 = 8

5. 1111111111
   6 kwJ-y-I-fpsS XpI = 6 ´ 9 = 54

AXn¬ 4 kwJ-y-I-fpsS XpI = 4 ´ 8 = 32
  Ah-ti-jn-°p∂ 2 kwJ-y-I-fpsS XpI

  = 54- ˛ 32 =22
                       icm-icn = 22/2 =11

6. 50.550.550.550.550.5
    n+1

     2

= 100 +1

        2

= 101

                         2

= 50.5

 7. 33.233.233.233.233.200000c

icm-icn = XpI
    FÆw
  = 32 + 35 + 33 + 36 + 30

5
   = 166
      5
   = 33.20c

8. 1616161616

icm-icn =
  XpI

     FÆw
   =14 + 18 + 16 + 15 + 17

       5
    = 80/5
    =16



9. 5 5 5 5 5
   H‰ kwJ-y-I-fp-sS icm-icn = n =5

10. 93 In.{Kmw93 In.{Kmw93 In.{Kmw93 In.{Kmw93 In.{Kmw
 (Aw-K-kw-Jy ´ icm-i-cn-bp-sS hy-X-ym-kw) +

                        t]mb BfpsS `mcw
= (12 ´ 1.5) +75
= 18+75
= 93

11. 52505250525052505250
6 amksØ BsI thX\w = 6 ´ 3500 = 21000

3750 cq] icm-icnbn¬ 7 amksØ thX\w
       = 7 ´3750  = 26250

   7 ˛masØ amksØ thX\w  = 26250- ˛ 21000
       = 5250

12. 6060606060
24 tPmen-°m-cpsS BsI {]mbw = 24 ´35

  = 840
     amt\-P-cpsS hb-kp-IqSn

       Dƒs∏-Sp-Øn-bm¬ = 25 ´ 36
   = 900

      amt\-P-cpsS hb v = 900- ˛ 840
   = 60

13. 4040404040
5+10+15+20+x  = 18

5
        50 + x  =18

                         5
 50+x = 90

                                       x = 90-˛50
                              = 40

14. 65.5 In.{Kmw65.5 In.{Kmw65.5 In.{Kmw65.5 In.{Kmw65.5 In.{Kmw
35 Ip´n-I-fpsS BsI `mcw  = 35  ´ 47.5

       = 1662.5
A[-ym-]n-Ibpw IqsS h∂-t∏mƒ  = 36 ´ 48

       = 1728
      A[-ym-]n-I-bpsS `mcw  = 1728 ˛ 1662.5

       = 65.5 In.{Kmw

15. 99999
8 Ip´n-I-fpsS BsI hb v   = 10 ´ 8 = 80
7 Ip´n-I-fpsS BsI hb v   = 80- ˛ 17 = 63
7 Ip´n-I-fpsS icm-icn hb v = 63/7

= 9

Are you intelligent

1.  66666

icm-icn =   XpI
     FÆw

4 1/4 + 5 1/2 + 6 3/4 + 7 1/2

= 
24

   4
= 6

2. 2424242424
d¨kv ± (-I-fn-I-fpsS FÆw-˛1) ´ icm-i-cn-bnse hy-X-ymkw

= 66 ± (15-˛1) ´3
= 66-˛14 ´ 3
=24

3. 45

icm-i-cn =
 5(5+1)2

      4
  = 5 ´ 36

                     4
  = 45

4. 581581581581581
icm-icn = (41 + 1) (2 ´ 41 + 1)

    6
  = 42 ´ 83

6
  = 581

5. 8484848484
28 Ip´n-I-fpsS BsI `mcw = 28 ´ 22

      = 616
 4 Ip´n-Iƒ IqsS h∂-t∏mƒ = 32 ´ 23.5

      = 752
    ]pXpXmbn h∂-h-cpsS `mcw = 752- ˛ 616

      = 136
    icm-i-cn = 136

4
     = 34

6. 27.427.427.427.427.4
  XpI = 26.5 ´10  = 265

    bYm¿∞ XpI = 265-˛23+32 = 274
bYm¿∞ icm-icn = 274
                         10

       = 27.4

7. 5656565656
]pXnb icm-icn = 7 ´ 8 = 56

8. 2727272727
]pXnb icm-icn = 21 + 6

  = 27
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k‘n Fgp-XpIk‘n Fgp-XpIk‘n Fgp-XpIk‘n Fgp-XpIk‘n Fgp-XpI
1) tem]w

2) BK-a-k‘n

3) ZnX-z-k‘n

4) tem]-k‘n

5) BtZiw

6) BKaw

7) BKaw

8) BKaw

9) ZznXzw

10) BtZiw

11) tem]w

12) BtZiw

13) BtZiw

14) BtZiw

15) BKaw

16) BtZiw

]ncn-s®-gp-XpI]ncn-s®-gp-XpI]ncn-s®-gp-XpI]ncn-s®-gp-XpI]ncn-s®-gp-XpI

1. imkv{Xw +⁄≥

2. shƒ + \nemhv

3. Bbpkv +thZw

4. Iew+-Ad

5. AXn+-A¥w

6. I¨ + \o¿

7. \new + Ad

8. a\: +km£n

9. ISw+-IY

10. cmhn¬ + F

11. s\ev + aWn

12. [\w + C¬

13. ae + Bfw

14. alXv + NcnXw

15. {]Xn + D]-Imcw


